EVENRIVER/A—TJ ) /\—{i{gzk

2025F(FEH)

REFRCBAMBIE, RIS E BRIV,

REiS A 74507 R KRS (CHEA ML)
US1703|VIyRANYF ST 72T —H—T ZF—T Mg 3,980 (%tAl)
US1707(VIJYRRRLYFSAT vk 7= Mg 4,430 (F5!)
Us1602|VwyRrRZcLYF H—T ZF—T A& 3,680 (#3!)
US1607|VI)YRRARLYF JvTvhk F—T & 4,430 (#5)
US1502|T2MJ—L ZRLYF Max A—1 7 — T A& 4,650M (%)
US1507|ToRM)—L ZRLYF Max TV Y Z—T & 5,700 (Ft5!)

USD1502 [tozb—4 Z2RLyF Max F=4 H—T 7 — T A& 4,650M (%)
USD1507 [T02M—L4 RELYF Max =4 TV Z—T A& 5,700 (F5!)
USD302|(RkLYF TSA~ A—13 F—T & 4,500 (#i5!)
USD307|RkLyF T3RN TILWJY 7= Mg 5,550 (#t5!)
USD402|XkLyF =L H—3 ZF—"T A& 4,500 (#3!)
USD407|RtLYF 7L TV 7= AmE 5,550 (%i5!)
USD702|(XkLwF TSR~ A—3 7= AmE 4,500 (#31)
USD707|AtLyF TSRN T ZF—T A& 5,550 (%i7!)
USD802|ZXkLyF /X945 —F =4 h—1 Z— T A& 4,650M (%)
USD8OQ7|RRLYF K98 —F=L TV 7= g 5,700 (#5!)
USD902|RkLyF 7=LHh—3 X9 F—T & 4,650 (#x!)
USD907|RkLYF FZLTILN Y X9 7 — T A& 5,700 (%t5!)
USD912|ARbyF F=ZLh—T X9.1 F—T A& 4,580 (#3!)
US-1102|(Z1vIv—R3A47 A—3 7= g 4,730 (#iA)
US-1106|T1vIv—RSA4T v 7 — T Mg 4,730 (#5!)
US-1107 |74 vv—A3514T TILJ U F—T A& 5,550 (%tAl)
ERX202|3DAKLYyF A—T 7= Mg 4,350 (#5!)
ERX207|ARLYF TV 7= AfHE 5,180 (#xll)
K-006|t>au+Y 7= g 3,300 (#A!)
ERX502|AE—THZRRJ—LRRYF H—T F =T 4,730 (FRl)
ERX507 [AE—IORR—LRRYF TV Z—T Mg 5,630 (%tAl)
ERX602 [Ae—To2M—LRMYF F=bh—T 7 — T A& 4,730M(FH!)
ERX607 [Ae—To2M—LRvF F=6 TN 7= & 5,630 (FtAl)
RO48|Z1~TIV I8\—H— F—T A& 3,900 (%7!)
ME3O00O|R~LYF LA R—Y 7 — T A& 6,600 (%i5l)
SR-6002|T7—3A Rk LyF H—TIXDY ZF—T A& 4,170 (FA!)
SR-6006|I7—351rRNLYF IvY F—T & 4,170 (#FA!)
SR-6007|T7—3>1RKLYF TV 7 —T Mg 5,100 (#5!)
SR-6100|ZRLYFIP—S51+ AN—A—I 7= A& 6,150 (%ial)
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SR-6110|RRLYFIF—S1~ A—IN—F—)L Z— T & 4,650 (FAl)
NRS106|AE—Dx/OV T T 7= Mg 2,180 (%t5!)
NRS116|ANE—JT AT ZF—T A& 2,030M (%t5l)
NRS206 |At—y14/ by TRryo0u I TovY Z—T A& 2,480 (%ixl)
NRS216 |AE—2TA Iy TRYITIwY Z— T Ak 2,330 (FiAl)
NRS406 |AE—J 14 RO ZF—T A& 2,480 (#t5l)
NRS416|AE—Dx/ ROV 7= Mg 2,330 (%ixl)

NX406|rRS1o—)LikOv Y K Z— A& 2,180 (%t5l)

NX416(RS1I—)LiROV+Y 44 A =T 1,880 (#5!)
SR7002|7L1LLY RIS A—T 7= Mg 4,800 (#5!)
SR7006|TLALLIRI S D4 ZF—"T A& 4,950 (#3!)
SR7007|ILALLIRIIS TV 7= AmE 6,000 (%ix!)
SR-4002|R&VHF—K A—TINY F—T 3,830 (%tA!)
SR-4003(RFVHF—R RSYIR 7= A& 3,680 (#t7!)
SR-4006| X595 —K v 7 — T A& 3,830 (#ix!)
SR-4007|R95—K TILJ ZF—T A& 4,730 (#5!)

SR-4002D|RFF—KR H—T/N F—T & 3,830 (#ix!)

SR-4003D|R¥ 5 —K R5YIR 7 — T A& 3,680 (#i3!)

SR-4006D|R& V5 —K Ty 7= & 3,830 (%tA!)

SR-4007D|R5 5 —F TN 7= g 4,730 (#iA)

SR-5002 (2905 —R Sqk H—T/IXY F—T A& 3,680 (#7!)
SR-5006|(RYVF—K S4k vV F—TME 3,680 (#i7!)
SR-5007|R¥ 25—k S4k TILJ U 7= Mg 4,500 (#5!)
EX35|7z10LAv—kRoa—~IwY ZF—T A& 3,830 (#3!)
EX35L|7z10L1v—Rya—rRoy (HhETS) 7= g 3,900 (#5!)
HYQOL [ 71191 7—RRS1ROV+Y (HETS) Z—T A& 3,000H (#3!)
HYO7 |21 oL1v—k ROV F—T A 3,150 (#3!)
HYO8| 7T/l 17—k RSAiROYvY 7 — T A& 3,000 (#A!)
ERSO3|7—ot% %)L ZF—T A& 1,800 (%t5l)
ERSO4|D—o1 %)L Pro Z—T Mg 2,630 (#x!)
ERS06|70—o1 %)L Proa 7 — T A& 2,700 (%t5!)
ERSO7|t—7F74—2=—H—(Rbwit—) ZF—T A& 3,150 (#3!)
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ERSO8|t—7F1—R=—H—(2WAY) F—T A 3,150 (#5!)
RB-02|Ltf— RJLk F—T 3,150 (#3!)

RBO3|AKLyF KNIV Zr—" AmHE 1,500 (%5l)
TRN-1|=—/VwR A =T 1,200 (#51)
ERGO1(¥ILFINv oI\ o361 Z— T Ak 4,950 (Fal)
ERGO2|~b—k/\wI35L 7= g 3,530 (#3!)
ERGO3|fRFZZR—F 7 — T A& 3,080 (#i3!)

GR1001|3—F23zkyF H—3 UaH— Z— T A 4,050 (%Al
GR1002|3—F132kwF A—T XY Z—T Mg 4,050M (#3!)
GR1003|3—F23AMyF H—TN=T/8Y 7= A& 3,080 (#iA!)
GR1007|3—723&RLYF v Vb 7= AmHE 4,800 (#3!)
GRSOQO03|[RRLYFIFHETSN=T/INY 7 — T A& 3,150 (%ixl)
GRSO004 |2 LYFIFAETSIIA—/IY F—T 3,680 (#3!)
GTEQOQ|7/2aVFLwyay P—LhN— 7= A& 1,050M (F51)
GTEOQO1|712avFLyvay 1vF—Fvy 7 7 — T A& 750 (FiAl)
GTEQR2|7A23vFLwy3ay IJI/RA—R 7— T A& 1,350 (%Al)
GTEO3|7ARIvFLwvyay LF¥UR Z—T A& 1,950 (%iAl)
GTEOS|71RavTLvyay TyvyY F—T A& 1,880 (#i5!)
GTEQ6 |712avFLyyay OvdTowy 7= & 1,950 (F51)
GTE23|7/x3vFLwvyay Lydhii— 7— T A& 1,350 (%ixl)
GTXOO0 71230 TLyyavzrad 7—LAN— 7= A 1,130 (%tAl)
GTX03|P1z23vFLyvavis OvILFIR F—TME 2,550 (#i5!)
GTXO5 [P123vTLvvavast ol—ryo Hi 7= Mg 2,480 (%ixl)
GTX06 |71zav7Lvvavzst s—xvs s =T A& 2,550/ (F5!)

ML HEISEICAY £,
3t—100M (#Hl) UP
4 —200M (Ft30) UP
5t —300M (#t3a1) UP
bt~—BRLEbLETE WL

XX VIZDo0nT W9lemA b BFICA Y £9,
W 91~W105—100H (#tH]) UP

W1lb~—EHLEbE T3 L




